20. For how many integer values of ‘p’ the roots of the equation
x*- px + 12 = 0 are(hot real?
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11. If the equation (a? + b?)x? — 2(ac + bd)x + (c? + d?) = 0 has equal
roots, then which one of the following is correct ?
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91. If the roots of the equation (a? — bc)x? + 2(b* — ac)x + (¢* —ab) =0
are equal, where (a, b, ¢ > 0) which one of the following is correct 7
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2%, If the roots of the equation a(b — ¢)x? + b(c — a)x + c(a — b) = 0 are equal,
then which of the following is true?
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2
ax +tbx+C =0
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3y. If a, b, c are rational numbers and 2 ++/3 is a root of the equation
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25. A root of equation ax?>+bx+c=0
g ¢= 10 (where a, b and c are rational numbers)
o R is 5+3v3. What is the value of
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Sign of roots:
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26- What is the least integral value of k for which the equation

x> —2(k—1)x+ (2k+ 1) = 0 has both the roots positive
?
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27. If 0 < p < 1, thenroots of the equation (1 - p)x* + 4x + p = 0 are
IMO<p<1gar@ATOr (1-px® +4x +p =0F AA &

a) Imaginary )() Real and both positive
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29. The value of the quadratic polynomial ax? + bx + c is always positive if :
AT 9g9E ax® + bx + ¢ F AT FAAT GACHS N I,
@ is positive and b% — 4ac < 0
b) a is positive and b?> — 4ac > 0
c) a can be any real number and b?> — 4ac < 0
d) a can be any real number and b? — 4ac > 0
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29. One-fourth of a herd of cows is in the forest. Twice the square root of
the herd has gone to mountains and the remaining 15 are on the banks

(S of a river. The total number of cows is:
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Factor/remainder theorem:

x3—-2x2—-5x+6




I.When x3 + 3x2 + kx + 5 is divided by x + 1, then remainder is 3. what
is the remainder if it is dividedby x — 2 ?
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x* —2x3 + 3x* — ax + bis divided by x — 1 and x + 1 the
remainders are 5 and 19 respectively. Find thelremaindeAwhen thla

polynomlalls dividedby x — 2 . %-1=0 =) x=| _132?_.
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3 When f(x) = 15x3 — 14x? — 4x + 10 is divided
by (3x + 2), then the remainder is:
9 f(x) = 15x° — 14x% — 4x+ 10 (3x + 2),
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3x* — 2x3 + 3x? — 2x + 3 is divided by
/mx + 2), then the remainder is
2 3y 3xt-2x3+3x*-2x+3  #
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5. If (x + 2) and (x — 1)are the factors of (x* + 10x* + mx + n), the
values ofmandnare:;; Lem=0 o
e (x+2)3R (x—1), @3 +10x2+mx+n) & AUIAES g, ar
KALAO m 3R n& AT AT QA |
=y =_-2 aym=5n=-3 bpm=17,n= -8
S }ﬁﬁ=7,n=—18 dm=23n=19

“8HU0-2MiN=0 =) —2min=-32
1 +10 tM+n =0 =) myy = -]

-SW]: Q\
m=7

25



6. If(x+1}and (x — L)arefactorofax + bx?* + 3x + 5. Find the
1= value of a - 2b. g.-lf’ &m,o
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px3+x*+3x+q is exactly divisible by
(x + 2)and (x 2), then the value of p and q are:
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